INDIAN SCHOOL MUSCAT
DEPARTMENT OF MATHEMATICS
CLASS TEST - OMR FORMAT

CLASS: XI TOPIC: RELATIONS & FUNCTIONS
1. | GivenR ={(x,y): y = x — 3,x,y € Z}. State which of the ordered pairs belong to the relation:
A)(5,2) B)(0,3) C)(7,-4) D) (-4,1)
2. If R isarelation from a finite set A having m elements to a finite set B having n elements, then the
number of relations from Ato Bis :
A) 2mn B) 2™" — 1 C) 2mn D) m™"
3. | If f(x) = ax + b, where a and b are integers, f(—1) = =5 and f(3) = 3,thena and b are :
A)-3and 1 B) 2 and -3 C)0and 2 D)2 and 3
4. | Let R be arelation on N defined by x + 2y = 8. The domain of R is :
A) {2,4,8} B) {2, 4, 6,8} C){2,4,6} D) {1,2,3,4}
5. |LetA={1,3,5}and B = {2,4}, find R givenby R = {(a,b): (a,b)e AX B, a > b}.
A){(1,2),(32), (14} |B){(32),(52),540} | 9{(B2),(3B4H), (1,4} D) {(1,2), (5,2), (54)}
6. [IfR=1{(x,y):x,ye Z,x* + y? < 4} is a relation on Z, then domain of R is :
A){0,1,2} B){—2,—-1,0,1,2} C){-2,—-1,0} D) {-2,—1}
7. [f(x—1, y+3)=(2, x+4),findxandy.
Alx=1y=2 B)jx =—1,y=-2 COx=3,y=4 D)x=2,y=6
8. |IfR ={(x,y):y = 2x + 7,where xe[—5, 5]} is a relation, then find the range of R.
A)[-3,17] B) [-5,—5] C) [-3,—7] D) [—6,—1]
9. | If the set A has p elements, B has g elements, then the number of elementsin A X B is :
A)p+q B)p+q+1 C) pq D) p?
10. | Thedomainof f(x) = |x — 1| + |1 + x| is :
A)(—00, o) B)(1, ) C)(—1, ) D)(-1,1)
11| The domain of the function f(x) = S is
A)R [B) R — {2} [OR-{1} [ D)R — {0}




12. | Find the domain and range of the function f(x) = 2 — 3x2.
A)R; (—o0,—3] B) R; (—0,2] C)R; (—=,2) D) R; (2, )
13. | The range of the function f(x) = —|x — 1] is:
A)(0, ) B) [0, ) C) (=0, 0] D)R
14. | Let R be a relation from a set A to a set B, then
A)R=AUB BIR=ANB CORC AXB D)RC B XA
15. | A function f is defined by f(x) = 2x2 + 3, for all xe R. Find the element (elements) of the domain
which has image 35.
A) 4, -2 B)O, 4 C) 16, -16 D) 4, -4
16. 1 Find the range of the relation R defined by R = {(a, b):b =a+ Z ,a,beNanda < 6}
A){1,2,3} B){5,7} C){1,2,5} D) {3,5,7}
17. | The domain of the function f(x) = vVx —1 is :
A) (0, ) B) [1, ) C) (—,0) D) R
18. | If f and g are real functions defined by f(x) = x? + 7 and g(x) = 3x + 5, then find the value of
f(=2) +g(-1).
A) 13 B) 10 C) 11 D) 12
19. | If A ={1,2,3}and B = {a, b, c}, which of the following relations from A to B are functions?
(i) Ry ={(1,¢),(2,b),(2,a)} (i) Ry ={(2,¢),(3,¢),(1,0)}
(iii) R3 = {(1,b),(2,¢),(3,a)} (iv) Ry, = {(1,),(1,b),(1,0)}
A)R; and R, B) R, and R; C) Rz and R, D)R; and R,
20.

Which among the following functions represents the given graph :

A G = x—1] /G =x+1  OfG@=lx+1 D) F() = x| + 1




